#ER :1/2,500

BARRDIEE |REMNORE
HIFFEEE  [132421A661123021
(ERIES 3D
Fr7EHh KB M

X 5 5 A I
[ ] twssenxs
- IRKERNERRS (HPERSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR
[ ] zhusoxs

B R R I (FFRS

TEFDADKESOERT

[TREDNDORES—ERISHE

Of

TEE

0 50 100 m
Ty S

1/2,500

1/ 2 ERE



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. TROZFUEEBHONRTERSICLIES EMAEEES  [132421A661123021
HDORHEZDHEE ENERERADERKREZRLTINS, — —
A) #ﬁiﬂ'ot;jnb“mom/ % BZDRBOBHDHDBABERN/m) E) B HmEBRZ DR B HIED S DBABERN/m) 2 THXERARUZEBNICSHIREEHT S ik fBAHD
Z A MmZztEA g HERNIE m = /N3mE A ERNIE m EAs 3 - — L D=3 il —
(B) (WAL BT B A D LB ED S Sm) (P ENLHEEN RS 558D LEE DB %iwwﬁ’;fégfﬁi'ﬂﬁ%%éf_ ﬁ@?ﬁﬁ A 7E KEH
(C) BB L5 A HM00kN/ M LT DR B OB BID 5 DB ABEKN/m) (G) HFEBA ML T DR i DHEFED 1 DB A EKN,/ ) EMBEEIHEEHRRLBEBHRIRHALR
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METREIUTHDTEEDADAZE SIESHBAD T EZ D HDKES
RKAES % =
(A) (B) (C) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) F (@) (H)
(1) 144.0 1.0 99.8 1.0 - - 13.9 2.8 144.0 1.0 96.8 1.0 - - 13.9 2.8
(2) 145.4 1.0 99.8 1.0 18.1 3.6 15.0 3.0 1454 1.0 96.8 1.0 18.1 3.6 14.2 2.8
( 3) 160.4 1.0 99.5 1.0 16.4 3.3 15.2 3.0 160.4 1.0 96.4 1.0 16.4 3.3 14.2 2.8
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